
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Prozentzahlen (fehlende Zahl)

________ × 90% = 41.4 ________ × 80% = 76.8

________ × 20% = 14.2 ________ × 80% = 63.2

________ × 80% = 7.2 ________ × 60% = 55.8

________ × 70% = 2.8 ________ × 80% = 62.4

________ × 20% = 2.8 ________ × 30% = 20.1

________ × 50% = 39 ________ × 50% = 38

________ × 90% = 79.2 ________ × 60% = 18.6

________ × 30% = 7.5 ________ × 80% = 14.4

________ × 90% = 29.7 ________ × 10% = 4

________ × 10% = 7.3 ________ × 40% = 10.4
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